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Reference useful for Book 6

1: Ideals [ 3, Chapters 2-5 ], [ 4, Section 10.1], [ 8, Chapter 3 ], [ 13,
Chapter 4 ] .

2: Divisibility [ 3, Chapter 6 ], [ 6, Chapters 9,31,32 ], [ 8, Chapter 3 ],

[ 13, Chapter 4 ] .
- Fielbs [ 1, Chapters 2,3 ], [ 8, Chapter 5 ], [ 16, Chapters 3,4.7-12 ] .
Modules [ 3, Chapter 12 ], [ 4, Sections 10.2-10.6 ], [ 13, Chapter 6 | .
In [4], [6] and [13] all vings have a I, and a subring must contain the ring
identity . Ring morphisms ( called ring homomorphisms in [4] and [6] ) must
map the identity element . In [4] ring morphisms are written as mappings on
the right . The definition of and integral domain given in [6] does not require it
to be commutative
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